
KG WORKSHEET  

 

SUBJECT: ARITHMETIC                                                                         TOPIC: SKIP COUNTING BY 2  

ANSWER KEY 

 

Q1) Skip count by 2 (2-100) 

  T O   T O   T O   T O H T O 

         2     2  2     4  2     6  2       8  2 

        4     2  4     4  4     6  4       8  4 

        6     2  6     4  6     6  6       8  6 

        8     2  8     4  8     6  8       8  8 

     1 0     3  0     5  0     7  0       9  0 

     1 2     3  2     5  2     7  2       9  2 

     1 4     3  4     5  4     7  4       9  4 

     1 6     3  6    5  6     7  6       9  6 

     1 8     3  8   5  8    7  8       9  8 

     2 0     4  0   6  0    8  0   1  0  0 

 

 

  



Q2) Count by 2 and write the missing number 
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Q3) Fill in the missing numbers counting by 2  

 

Q4) count by 2 and fill in the missing numbers  
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76 80 84 88 90 
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70 74 78 82 84 

54 58 62 66 


